TH3F11 A 248 OKER)

R RENFEHIS (A15) 2B B #H

Frx EISEfAZE: 253
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 16,665
EE 2,665 0 2,665 10 756 216
EE 3,650 0 3,650 10 1,080 324
KI5 7,485 850 6,635 10 156 864 540
130340 [;£ICALA ¥ 15,740
F 1,000 0 1,000 10 842 734
FIE 10,390 0 10,390 10 1,620 648
RIG 4,200 200 4,000 10 1,296 1,620 648
130400 15 % 1,638
dtiEE 910 0 910 10 - - - 2,268 1,512
L 600 0 600 10 1,566
BE 110 0 110 10 1,004
130600 |[LA A % 1,478
i L 155 0 155 5 2,592 972
ms 1,115 15 1,100 5 3. 564 2,916 4,104 864
131100 [A 3 3 40,780
Ik 33,825 14,000 19,825 15 864 702 972 432
50 1,500 0 1,500 15 1,026 756
£E 10 10 0 2 76
i L 5,445 4,350 1,095 15 1,080 1,188 864
131700 |Fv Y % 39,085
E351 6,800 3,300 3,500 10 1,037 756 1,037
50 20,260 7,510 12,750 10 702 551 810 540
EE 5,425 480 4,945 12 648 972 432
131800 |[[(F5hAE % 1,811
EE 285 228 571 0.2 157 104 82
®me 800 4 796 4 Z, 808 3,240 1,620
=i 585 0 585 0.18 97
131910 [FH=F % 2,699
N 62 0 62 0.5 702 302
£E 46 3 44 05 302 302 281
i L 260 0 260 1 972 432
&Il 1,463 0 1,463 10 2,916 2,430
iR 770 20 750 5 Z. 700 4,320 1,620
131950 |4 % 5913




TH3F11 A 248 OKER)

R RENFEHIS (A15) 2B B #H

Frx ENFERHME 253 b
(gL HEREFST)
fnfh &h EEh ENFE = (ke) iR b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
£EE 708 123 585 3 1,890 1,080 1,944 648
B 1,890 150 1,740 3 1, 404 972 1,404 756
fE 75 0 75 3 864 648
133400 [LA R a3 17,339
Ik 7,293 2,023 5,270 10 1,458 648 1,512 540
EE 8,526 4,400 4126 10 1. 620 540 1,836 972
32 1,520 680 840 10 1,296 972 1,296 756
134100 |31 a3 16,738
Lz 230 0 230 10 1,188 1,026
HE 155 0 155 5 1,048
EE 148 68 80 8 2,419 1,987 2,419 1,987
®me 560 0 560 5 1,728 1,080
F 715 40 675 5 1,080 1,674 648
iR 2,620 615 2,005 5 1,512 1,134 1,836 756
= 1,250 850 400 5 1,620 1,296 1,296 972
= I 10,460 2,600 7,860 5 1, 620 983 1,836 788
134200 |F I % 4,250
dtiEE 1,930 0 1,930 10 - - - 1,890 594
—1—-U—-5uK 830 0 830 10 1,512
—1—ALR=7 1,490 0 1,490 10 1,782 1,566
134300 |t F 1B 7,471
=B 125 120 5 5 1,512 1,350 1,512
32 974 320 654 2 1,296 918 1,296 540
iR 25 0 25 5 562
=40 5,554 1,010 4544 0.3 108 108 97
=i 538 47 491 0.3 162 162 157
134400 |F<+ % 2,787
EE 2,025 0 2,025 4 - - - 2,376 1,512
REAR 696 0 696 4 1,296 1,134
134500 [E—<> 3 5,624
= 558 18 540 0.15 54 54 43
=] 5,031 1,146 3,885 0.13 63 38 49 43
135100 [LNAIF A % 198
FFrL 50 6 44 2 756 2,376 594
=4 68 20 48 /] Z, 700 Z. 316 2,862 2,160
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TH3F11 A 248 OKER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAsE: 253k
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)

BRE 80 0 80 2 1,836 1,674
135200 | B = 3 56

Faxl 56 16 40 /] Z, 916 1,296 3,132 1,296
136100 [MAL & 3 24,500

32 7,880 405 7,475 5 Z,. 376 1,620 2,376 864

PN 3,670 0 3,670 5 2,160 864
136210 | A—9 1> % 1,600

dtiEE 1,600 1,000 600 10 2,074 3,370 2,894
136300 [ B ¥ ¥ 2,630

BIE 2,580 540 2,040 10 2.700 2, 052 3,240 1,620
136600 |f=F1a= % 6,850

dtiEE 5,350 5,100 250 20 4, 352

£E 1,500 1,500 0 10 2,430 1,382
138100 [ LU =1F 3 2,518

£E 205 30 175 0.1 97 130 81

®me 1,524 10 1,514 0.1 130 97 194 54
138500 |LHLE ¥ 3,409

R 3,340 521 2819 0.2 81 16 84 70
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TH3F11 A 248 OKER)

R RENFEHIS (A15) 2B B #H

= ENSE#asE: 402
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)

240400 [ R4 BN A MDA # 21,991

FFrL 3,546 3,546 0 10 2,916 864

F 5,329 2,860 2,469 10 2,376 1,404 2,700 1,404

BHE 12,916 9,413 3,503 10 3. 564 648 4,590 864
241470 |ZEADA ¥ 109

=G 109 109 ol 025 210 259
242830 [ S\CYAC ¥ 5,270

I 2,270 2,270 0 10 3,564 1,620

£ 3,000 2,500 500 10 8. 640 3, 240 7,560 4320
243610 |[EAME 3 5,505

=B 5,375 5,159 216 10 3,780 156 3,024
243700 [L 3 3 748

=B 40 40 0 10 2,376 1,944

= 690 610 80 10 3,240 1,512 3,240 1,404
243740 |[EEME ¥ 1,780

mE 1,180 520 660 10 Z. 484 1. 620 2,484 1,620
246000 (V6T % 2,680

E 289 68 221 0.3 864 918 864

12 339 117 222| 027 864 432 972 432

RIG 1,535 55 1,480 0.25 972 518 756 378

REAR 242 60 182 025 648 486 810 486
247100 |[7—J/LR A a3 638

] 408 247 162| 8.5 10, 800 4, 968 12,960 3,888

=il 230 230 of 85 5,400 3,024




SFI34ELL A 2410 OKEER)

F A R RS T S (AE5) BHE H

A EIbng e = 11 ko
(S I E B B )
4, . EN7EH (kg o wh5E RIS
2 4 — — filik HLAL - — — — —
AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
101 | RERT=\ 55 20 35 Kg |5 1,836 378| )i 3,780 1,296
102 |FHEI-) 2,307 2,307 Kg B+ 2 2,927 417
111 [FiiEED 550 550 Kg BRIl 1,512 238
113 | RROB®H 76 63 13 Kg [E=k 612 468 | Lo 4,104 2,376
114 |5 -H 126 126 Kg HEE[E] 2,484 2,000
117 [13n 9 9 Kg frJE 3,622 2,700
121 [7bixE 76 21 55 Ke [#EE 2,376 1,080 e 864 756
134 |[7=Z 258 191 67 Kg [E=k 2,800 1,296|'= 3% 2,484 1,404
137 |[mHES< 272 88 184 Kg [SHL 3,780 2,916[ 51 4,104 972
138 |AR7pEZ 15 15 Kg Lo 3,240
140 [5iC 3 3 Kg E[RES 45,360 38,880
147 |[HEZ W 97 4 93 Kg [|ERE 5,616 TP R R 7,020 4,000
158 | A LD 655 10 645 Kg [EE 918 756[AE 1,458 648
201 |Vl 300 300 Kg EJN 200
203 |/h&HL 68 68 Kg FoR) 281 108
206 |1 289 289 Kg HEE[E] 960 438
207 |SAE 80 80 Kg AbyiE 2,700 945
208 [0k 219 219 Kg T3 1,620 270
209 |[IHH000 72 72 Kg [E=k 621
AVIRES BN 490 490 Kg FEEET 2,182 972
222 |[OBZ 72 72 Kg = 180 72
251 [KAELA 401 401 Kg o 5,994 2,700
252 |WALEESA 103 46 57 Kg  |#% 2,873 el 5,400 783
254  |[&HIEESAH 2,657 2,657 Kg 7 2,732 1,058
303 [HAZEW 394 20 374 Kg [EIF 444 389[El AT 576 350
306 [WEXDh 9 9 Kg L 864 771
319 [&Hh5 428 428 Kg T e » FJE 2,160 266
332 |1 EA BPE 312 312 Kg E|RES 1,566 1,296
351 [AEH 11 5 6 Kg [E=k 10,800 B[ 6,804
354 |IXFED 32 32 Kg Hh[E 1,134 918
355 [HVY 160 160 Kg HE 1,026 500
356 [LUA 20 20 Kg F5EL 1,080 972
357 [JRE 5 5 Kg HEE[E] 1,512 1,350
358 [KxH 30 30 Kg R 2,160 1,296
362 [ 311 4 307 Kg |&FE 1,620 = 3,240 540
402 |H7pE 10 10 Kg A 4,428




PO T FR YL ISR T (AN Y) B H
SFI3ELL A 241 OK#ER)

R EIbng e = 0.4 %
(I ZIE B Bl & de)

o E7E kR (ke) HVFE B H5 |
o i L i o —— _ - Ty -

AH HVFE FEXFELS | PEH e (P [ S ()| 22l (F) BEH (M) | P E(m) | Z2E(m)
507 |[m—/Lu s 10 0] Kg EE]ES] 594
512 | M 40 40 Kg E[RES 1,350 850
523 | BT 2O 154 154 Kg FE T 3,348 1,020
524  |[HBEDEZ N 10 10 Kg FE T 1,512
554 |XiE WA i 70 70 Kg E[RES 800 650
560 [HER7=Z 62 62 Kg FE T 2,450 750
566 |VRURDNC 16 16] Kg E[RE3 5,940 4,320




SFI34ELL A 2410 OKEER)

F A R RS T S (AE5) BHE H

T EIbng e = 5.5 %
(S I E B B )

= ek Hh5E H%
;Eﬁ\ 5 izl iﬁl (kg) _ e B \ _ 7 _ j TS| _

AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
701 |[BVDHA 3,745 2,781 964 Kg | 1,404 702 | fe )i 1,023 459
705 |7=-3<0 59 59 Kg frJE 2,808 1,188
710 [5BHHT 10 10 Kg ) 675
751 [ETFrhnun 268 256 12 Kg | 728 553 | AR 2,592
755 |BA®HL 177 177 Kg HEE[E] 810 637
756 |BAMET 23 23 Kg R 909 889
761 [BodAEE 60 6 54 Kg |&fE 1,601 1,520 | fe o - Fsfk (L 1,548 750
763 [EINIC 39 39 Kg | 5,014 4,569
801 [HALE1F 106 106] Kg Fg 7 - ALEE 1,650 1,058
802 [HaXiF 30 30 Kg Aty 972
805 |HE=1E 188 188 Kg B|&ES 821 367
807 [Hikko 1 710 710 Kg EIRES 8,532 2,646
810 |BHAKT 20 20 Kg e 1,188
815 |—WaaE 75 75 Kg JeviE 835




